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He works teat thea flowershop.
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Sentence written by a JSL learner

CANIZNENET D ACIRIGZE N £7.

Sentence corrected by an annotatorl

SANRZNETNAT KV DEBEC BB ER L £79.

Each of three expresses their feelings in their way of expression.

Sentence corrected by an annotator2

SARINZNAS GO K BRE£ L 37,

Each of three expresses their feelings in their own way.
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Training Corpus KJ Lang-8
2K 10K 20K 100K 200K 300K 390K
article 0.277 || 0.282 | *0.390 | *0.420 | *0.443 | *0.459 | *0.475 | *0.488
noun number 0.308 || 0.226 0.214 0.238 0.270 0.300 0.319 0.311
preposition 0.201 || 0.143 0.192 0.226 | *0.333 | *0.336 | *0.344 | *0.362
tense 0.128 || 0.058 0.066 0.058 0.081 0.096 0.089 0.104
lexical choice of noun | 0.054 || 0.054 0.124 0.133 | *0.189 | *0.216 | *0.250 | *0.258
lexical choice of verb | 0.098 || 0.098 0.087 0.138 | *0.196 | *0.232 | *0.232 | *0.241
pronoun 0.112 || 0.063 0.131 0.150 0.177 0.195 0.213 0.213
agreement 0.340 || 0.197 0.224 0.248 0.260 0.284 0.307 0.307
adjective 0.206 (| 0.094 0.165 0.219 | *0.413 | *0.426 | *0.426 | *0.446
verb other 0.109 || 0.204 0.240 0.311 0.291 | *0.340 0.308 0.340
adverb 0.333 || 0.286 0.286 0.302 0.333 0.349 0.349 0.349
conjunction 0.161 || 0.161 0.161 0.191 0.161 0.191 0.191 0.191
word order 0.048 || 0.093 0.093 0.091 0.091 0.091 0.091 0.136
noun other 0.200 (| 0.154 0.286 0.286 | *0.531 | *0.490 | *0.490 | *0.490
auxiliary verb 0.083 || 0.160 | 0.160 | 0.083 0.083 0.160 | 0.160 | 0.160
other lexical choice 0.182 || 0.000 0.095 0.095 0.400 0.400 0.400 0.400
relative 0.154 || 0.285 0.154 0.154 0.154 0.154 0.154 0.154
interrogative 0.000 || 0.000 | 0.000 | 0.000 | 0.000 | 0.000 { 0.000 | 0.000
Total 0.148 || 0.146 0.180 0.200 0.239 0.247 0.254 0.260
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| learner

correct

article

[ like a chocolate very much.

lexical choice of noun | my cycle was injured, but 1 wasn’t.

[ like _ chocolate very much.
my bicycle was damaged, but i wasn’t.

Table 5: Examples of system output for article and lexical choice of noun error

learner

correct

noun number 1
*noun number 2

I read various type books.

There is a big snoopy dools in my room.

I read various types of books.
There is a big snoopy doll in my room.

tense 1
*tense 2

If I 11 live in saitama, I must have ...

The weather is very sunny, so we were ...

If I live in saitama, I must have ...
The weather was very sunny, so we were ...

agreement 1
*agreement 2

Flowers is very beautiful.

[ think, reading comics are not "reading”

Flowers are very beautiful.
I think, reading comics is not "reading"

Table 6: Examples of system results for noun number, tense and agreement errors. Asterisks

indicate that the SMT system using full Lang-8 Corpus failed to correct the errors.

75l EBH B,

— /)N ADEH

1200000 :1()(559551}53
925588

1000000
800000
600000
400000
200000

o

3 (\
Q}\q Q’b

\’b

W Japanese
Mandarin
Korean
13620 '
3 393955518295891837886 Spanish

@’b

« )
&S
‘k-o C)Q <<k

0\ é‘

,5(‘

(96

M English

French

German

Microsoft

Research | ESL Assistant

%Ull\\

v RERICEISAIRE

vV BEDORNENEREILEISTE S

R 52

vV RO DEED DL SR

v ISRV —AShISREIORE

[ — 7% TIE7R LY

20D )\ —> BB 1IEEE

ARSI AR

‘MU

SHIN

4 .:.:Jn__lo)
g
0.3

% 02 }|
= 0.1

95% confidence

interval (bootstrap)

0.066 g 0.185 g 0.173 g 0.221

FCIRREFEDRDINNY—>ZERT D EERIC

| connected with the man who came from Japan.

&/ | communicated with the man who came from Japan.
7 | contacted with the man who came from Japan.
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Each side, government and opposition, 1s
the other for the political crisis, and for the violence.

(a) blaming (b) accusing (c) BOTH
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